E Lﬁ%ﬁi ES% (LL? Compact One Touch Fitting

ZWE IE|X) I/Y

Compact One Touch Fitting

ELC EFCC ELLC ETC
[9]-46 [9]-48 [9]-49 [9]-50
SEE
ESTC EURC ERYC ERC SH| g
[9]-53 [9]-54 [9]-55 [9]-56
SC, SCS

EUTC EUYC EUCC EULC EPCC KAS2000
[9]-57 [9]-58 [9]-59 [9]-60 [9]-61 /4000
KAS500
/600
84l 7|5 —
SCPV
e o
© @ 6 @ KHVF
KHVU
@ Al2|= ® HEFE2E
\ E HE 2| & | mm 38 Inch g
03 @3 1/8 21/8 KHVM
@37 04 04 5/32 05/32
LC 2YSHE SUAL LAY
FCC 2 YSHE LA LAt OFUFS e -
LLC 2SBHE SLIAL HEA LAY M3 M3x05 SH
TC AFBHE LA TAFS METRIC ’
occ A~35tEl g;r::m ALHAF QRS 4E M5 M5x0.8
SEE HAT e T oA 271e Lt M6 M6x1.0
STC LS SUA 28T LAY A RPTHE 01 R1/8, Rc1/8
URC 2YSE CHEQ FEEZ LAty A G(PHZHE GO1 G1/8
RYC LYSE CHEQ FEHE YAIY = UNFHE U 10-32UNF
RC AYStE B 2AHES ALY NO NPT 1/16
uTC 2YsE FEAZE T NPTHE N1 NPT 1/8
uyc AdetE FEAE YAY 07| 22 gEHAHZA
ucc LYSE FEAZE Y2 e 03 @3
uLC A3SHE S8 121 o mm 2 04 04
PCC AYSIE THEE FE0IZ 2 06 76
& 1/8 91/8
Inch 4& 5/32 @5/32
1/4 21/4

www.kccpr.com El - 47



KCC Co., Ltd.

Compact One Touch Fitting

A O A AH S (F)
=11 o S
2ue ez T/
A £3
Er 291 o 3 viol S302 £U2 0|0l A LAY 4 UL
0~150PSI / 0~9.9kgf/cil(0~0.99MPa) Ustetelof Bls) £85I Y2 SUSH 28 4 U
AHE Y xAd8 SH50to| 20| QU0IA o L2002 FOHA 2|7t £|0f Q0| LIEAIAO| Fof L Ct
£/ 2|2 A8 e gL, 1ol o211 2510l SLAet Do E6] 0] SOBLCT
° EIIT 22|H2 H2510] BAS Z7IME EEO| Er210] BO|EHL|C
Eiot -29.5in Hg / -750mmHg(-750Torr) =TT= sTee = =
o LEASO)= 71221 2 2210] 71943 gsLict
A2es He| 32~140°F / 0~60°C N cEmmem A AE
: o 2t {3/ |20 blaf AHBIE [L0|DE AH7|7| U BAS B2k
ABZA BF S|, L2 BYREO) Z4BHHL|CH
AHEO]| Y=
o B4 B210] B7IQUEIO) AHBSHE 24 HEf3A B AZTLICt
- EOCC
24| 20| SZ7Y0| 7130 O KFUAR| 2 2 EE & £+ JELICH ® AER[O| HHOl| ThatM CHSHA| A8 4 AFHTH
24| o|F= Y22 £|0] U0 EfS T2 A Z2EY 4 QST
-ELC, ELLCRY
ZotAEl 27} 5|/ e LR2A EBO| Hj2t0| 82 QIL|C},
=
/ w_\ RELEASE SLEEVE(POM)
COLLARIBRASS)
00K CLAWSUS)

BACK RING(BRASS)
U-PACKING(NBR)
O-RING(NBR)
BODY(BRASS)
BODY(PBT)

El - 48

www.kccpr.com



KEC| KSE $o, Hd. ECC series

ZWE IE|X) I/Y

ECC series

AN 2]

SE

Fus
e
2 A S
22|54 (R(PT) LIAL i
v 5C, SCs
(\ | oo SC-F
&) o
!
’ il H WEIGHT| BOX ASCM
. 29 | gD | gp T L | A | B |yl x | v |orAce WEGHT) BOX
" oo | ECCO3M3 3 | 7.0 M3X05 171 40 11.1| 7 |92 72 15 | 1.0 | 100 CAS2000
R ECCO3M5 3 | 7.2 | M5X08 17.7 46 111] 8 |92 72| 20 | 30 |100 /4000
i 1
o 1L ECCO3M6 3 7.2 M6X10 182 51 111 8 9272 20 | 30 100
. ‘ ECCO301 3 | 7.2 R(PT1/8 145 80 11.3| 10 |92 | 72| 20 | 40 | 100 e
: ECCOAM3 4 80 M3X05 177 40 116 8 104 82 15 | 30 100
= =4
a0 4 ECCOAMS 4 | 80 | MSX08 182 46 116 8 104 82 | 24 | 30 | 100 ey
| ECCOAM6 4 80 M6X10 188 51 116 8 104 82 30 | 30 100
ECCO401 4 100 R(PT)1/8 |17.3| 80 |11.6| 10 104 82 | 30 | 60 | 100 chive
ECCOBMS | 6 100 M5X0.8 | 194 46 128 10 124102 24 | 40 | 100
L
ECCOBM6 | 6 | 10.0| M6X1.0 |19.9| 51 128 10 124 102 24 | 40 | 100
ECC0601 6 100 R(PT)1/8 196 80 12.8| 10 124 102 50 | 60 100 KHVE
KHVU
52| A
2|4 (G LA
KHVM
- Y -
/\ ! KHBVU
AN
N
\./ ! SH
op
@D
=]
"l
L [
o
L AT
I el i mm
i o H WEIGHT | BOX
1 29 oo | P | T | L | A | B |yl x | v |oRirice|WEGHT) BOX
| ECC04GO1 = 4 | 83 G1/8 188 60 116 12 |104 82 30 50 | 100
ECCO6GO1 | 6 |104/G1/8 194 60 |128| 12 |124/102) 50 | 50 | 100

www.kccpr.com El - 49



E tf,g% Egﬂ !‘g ECC series

o
ZUE YUELR| 7|

Q2| (NPT LEA})

Y
1N
an
T
\.L' ool : mm
Q;FE') oy BByl ep | T L | A | B [y x| v |oRiFice| WEGHT | BOX
: : ECC1/8U | 1/8 7.2 |UNFI032 |17.7 46 11.1/5/16 92 72| 20 | 20 | 100
m ECC1/8NO | 1/8 | 72 |NPT1/16 |16.5 8.0 |11.1/5/16 92|72 25 | 40 |100
. L J ECCI/8N1 | 1/8 | 7.2 |NPT1/8 |17.5/ 85 11.1/7/16 92 72| 20 | 60 | 100
:;—; ECC1/8N2 | 1/8 | 7.2 |[NPT1/4 |21.5/10.5 11.3/9/16| 92 7.2| 2.5 | 150 | 100
J0 <I ECC5/32U | 5/32 80 |UNFI0/32 |18.2| 46 11.6|5/16 104 82| 25 | 30 | 100
T ECC5/32N0 | 5/32 | 8.0 |NPT1/16 |18.0| 8.0 | 11.6]5/16 /104 82| 30 | 50 | 100
ECC5/32N1|5/32 85 |NPT1/8 185 85 11.6|7/16 104 82| 30 | 90 | 100
. ECCI/4U | 1/4 | 105|UNFI032 19.3| 46 [13.0|7/16 12.8/108 24 | 100 | 100
ECC1/4NO | 1/4 | 105 |NPT1/16 |22.0| 8.0 13.0 7/16 12.8/10.8) 40 | 150 | 100
. ECCI/4N1 | 1/4 | 105|NPT1/8 |19.5| 85 |13.0|7/16 12.8/10.8) 50 | 180 | 100

El - 50 www.kccpr.com



KEC| KSE $o, Hd. ELC series

ZWE IE|X) I/Y

ELC series

AN 2]

SE

ZIHE
o1

LT

Sy

eIz (R(PT)LEAT)

SC, SCS

m

SC-F

\kj " I _ | ASCM

s 4 J
X KAS2000
. /4000

AT Ckmsso

! 1
] <, KAS500
M > /600
- SCPV
I
KHVC
KHVF
T2l i mm
== oD oP T L E A B (H'gx) X Y | ORIFICE WE('QG)HT |(3|5C,)A>§ VU
ELCO3M3 3 76 M3X05 = 185 | 172 3.0 1.1 8 9.2 7.2 15 2.0 100
ELCO3M5 3 76 M5X0.8 | 19.1 17.2 36 1.1 8 92 7.2 2.4 3.0 100 KHUM
ELCO3M6 3 76 M6X1.0 = 196 | 172 4.1 1.1 8 9.2 7.2 2.4 3.0 100
ELCO4M3 4 8.7 M3X05 = 196 | 182 3.0 16 8 104 8.2 15 3.0 100
ELCO4MS 4 8.7 M5X0.8 = 202 | 182 36 16 8 104 8.2 2.5 3.0 100 KHBVU
ELC04M6 4 8.7 M6X10 = 207 | 182 4.1 116 8 104 8.2 25 4.0 100
ELC0401 4 87 | RPTD1/8 | 207 18.2 8.0 1.6 10 104 8.2 25 10.0 100 SH
ELCO6MS 6 108 | M5X08 = 223 | 194 36 12.8 8 124 | 102 25 4.0 100
ELCO6M6 6 108 | M6X1.0 228 | 194 4.1 12.8 8 124 | 102 2.5 4.0 100
ELCO601 6 108 | RPT1/8 228 | 194 8.0 12.8 10 124 | 102 2.5 7.0 100

www.kccpr.com El - 51



E 5,%:,% Egz <L:z[-c>]| ELC series

o
2mE 9Jefx| 1

QA+ (GLIAD

fji_

I
L.
el i mm
o H WEIGHT|  BOX
2y @D oP T L E A B o | X Y | orrice | WESHT - BOX
ELC04GOT 4 87 | Gl | 187 | 182 | 45 | 116 | 14 | 104 82 | 25 70 | 100
ELCO6GOT 6 108 | G1/8 | 208 | 194 | 45 | 128 | 14 | 124 | 102 | 25 | 60 | 100
=15 A
QA== (NPTLHAY)
E
° |
/ \ Il |_\\
N o[l N
=M B i
X } ' -
q
.
I
el tmm
o2y Q| 2P T L E A B Hw) | X v | oripce | WEISHT | BOX
ELC1/8U 18 | 76 |UNFI0/32 191 | 172 | 36 | 111 | 546 | 92 | 72 | 24 20 | 100
ELC1/8NO 18 | 76 |NPTIA6| 196 | 172 | 80 | 111 | 516 | 92 | 72 | 24 | 30 | 100
ELC1/8N 18 | 76 | NPTI8 | 196 | 172 | 85 | 111 | 716 | 92 72 | 24 50 | 100
ELC1/8N2 18 | 76 | NPTI/4 | 221 | 172 | 105 | 111 | 916 | 92 | 72 | 24 | 80 | 100
ELC5/32U | 5/32 87 |UNFI0/32| 202 | 182 = 36 | 116 | 5/16 | 104 = 82 | 25 | 50 | 100
ELC5/32N0 | 5/32 | 87 |NPT1/16| 207 | 182 | 80 | 116 | 516 | 104 | 82 | 25 | 50 | 100
ELC5/32NT | 5/32 87 | NPTI/8 | 207 | 182 85 | 116 | 7/16 | 104 = 82 | 25 60 | 100
ELC1/4U /4 | 113 |UNFI0/32| 228 | 194 | 36 | 135 | 516 | 128 | 108 | 25 | 100 | 100
ELC1/4NO /4 | 113 | NPTI/6 233 | 194 | 80 | 135 516 128 | 108 35 | 120 100
ELC1/4N1 /4 | 113 | NPTI/8 | 233 | 194 | 85 | 135 | 7/16 | 128 | 108 | 35 | 160 100

El - 52 www.kccpr.com



KCC Co., Ltd.

AOAAES (F)

EFCC series

KECS

ZWE IE|X) I/Y

EFCC series

LIRS0 22 Yeko| S E Bt A2 (AES)H
UMM
SEERE
zue
SR
S| A EEz|T/E
QB2 4E (Re(PT) LHAD v
Y SC, SCS
f\\ x SC-F
&
1 &2l i mm ASCM
oP
H WEIGHT| BOX
Y 2¢ | gD | @P T LA | B el x| Y |orice WEISHT] BOX
\ I KAS2000
f EFCCO3M3 | 3 | 7.5 M3X05 17340 111| 8 | 92 72| 25 | 40 |100 /4000
© EFCCO3M5 3 | 7.5 M5X08 18860 |111| 8 | 92 | 72| 25 | 40 | 100
- EFCCO3M6| 3 75| Mex10 18860 |111] 8 92 |72| 25 | 50 | 100 KA?ggg
“.*_“TI‘“ EFCCO4M3 4 | 80 M3X05 182 40 116| 8 |104 82| 25 | 40 | 100
|
| ,,L "‘I EFCCO4M5 4 |80 M5X08 197 60 116| 8 |104 82| 30 | 40 | 100 Sscpy
T EFCCO4M6 4 |80 M6X10 197 60 116| 8 |104 82| 30 | 50 |100
EFCCO401 | 4 80 |Rc(PT)1/8 |232|85 |16 12 |104 82| 30 | 7.0 | 100 chive
EFCCO6M5 6 |10.0 M5X08 214 60 |12.8| 10 | 124 102| 40 | 50 | 100
I
EFCCO6M6 6 |10.0 M6X1.0 214 60 128 10 |12.4 102| 40 | 50 | 100
EFCCO601 | 6 10.0| Rc(PT) 1/8 | 254 | 85 |12.8| 12 |12.4 102] 40 | 70 | 100 KHVF
KHVU
s3I A
Q|4 (NPT LIAD
KHVM
/\ KHBVU
N | s
j |
A / SH
Cel - mm
oP ) oD H WEIGHT| BOX
o oo o op T L | A | B || X | Y |ORRcE[WEGHT]BOX
. 3 EFCC1/8U | 1/8 | 7.5 |UNF10/32|18.8 | 6.0 | 111 5/16| 92 72| 25 | 20 |100
® EFCC1/8NO | 1/8 | 7.5 | NPT1/16|205 80 |11.1.13/32] 92 72| 25 | 30 |100
o EFCC1/8N1 | 1/8 | 7.5 | NPT1/8 | 225 85 113/ 7/16|92 72| 25 | 30 |100
-
s EFCC1/8N2 | 1/8 | 7.5 | NPT1/4 | 253 105 113 |11/16| 92 | 7.2 | 25 | 7.0 | 100
\'; A “( EFCC5/32U |5/32| 8.0 UNF10/32/19.7 6.0 116 5/16|104 82 | 30 | 50 |100
T EFCC5/32N0 |5/32| 85 |NPT1/16|217 80 |11.6/13/32|104 82 | 30 | 60 |100
: EFCC5/32N1 |5/32| 85 | NPT1/8 | 229 85 118 7/16|104 82 | 30 | 6.0 |100
EFCC1/4U | 1/4 | 10.5 UNF10/32] 205 6.0 |13.0| 7/16|12.8 108| 25 | 60 |100
I {
EFCC1/4NO | 1/4 | 10.5 NPT1/16|22.5 80 13.0 7/16|12.8 108 50 | 7.0 |100
1
EFCC1/4N1 | 1/4 | 105 NPT1/8 | 23.8 85 |13.0 7/16|128 108| 50 | 80 |100

www.kccpr.com




E L(,g,% Egz <L;C>]| ELLC series

o
ZWE e I/Y

ELLC series

ELLY S oLt HY2EA|2| ZHY S BHR|5t7| 2|3l
Z0|E ¢ (s
S| A
QAR (R(PT)LEA})

£l mm
E H WEIGHT | BOX
5 = oD | @P T L E A B (Hex) X Y | ORIFICE © EA)
[ \:N ELLCO3M3 3 7.6 | M3X05 [256/175/ 30 [113| 8 |92 72 15 3.0 100
%%. ] ELLCO3M5 3 76 | M5X0.8 |27.7/175/ 36 113 8 |92 72 25 80 100
e ELLCO3M6 3 76 | M6X1.0 (28217541113 8 |92 72 25 80 100
- ELLCO4M3 4 87 | M3X05 (2921185 3.0 118 8 |104| 82 15 7.0 100
ELLCO4M5 4 87 | M5X0.8 {29.8/185|/ 36 (118 8 |104| 82 25 8.0 100
[ — I ELLCO4M6 4 87 | M6X1.0 |{30.3/185|4.1 [11.8| 8 [104| 82 25 8.0 100
jfj# ELLCO401 4 8.7 |R(PT)1/8/33.7/185/ 80 (11.8| 10 [104| 8.2 25 13.0 100
ELLCOBMS 6 | 108 M5X0.8 133.8/196|36|129 8 |124/102| 35 9.0 100
T { ELLCOBM6 6 108 | M6X1.0 |1343/196| 4.1 (129 8 [124/102| 25 9.0 100
ELLCO601 6 | 10.8 |R(PT) 1/8|37.8/19.6/ 8.0 (129 10 [124/102| 35 140 100

S |A

Y|4 (NPT LEAL
E ol i mm
B
C - @D H WEIGHT | BOX
/. \ I : al \ i odl (INCH) P T L E A B (Hex) X | Y | ORIFICE © EA)
[a]
} > %s' I i \ ELLC1/8U 1/8 | 76 |UNF10/32 | 277117536 |113|5/16 92 | 72 24 80 100
] v

X RIBRIE ELLCT/8NO 1/8 | 76 | NPT1/16 282117580 113|5/16 92 |72 24 9.0 100

ELLC1/8N1 1/8 76| NPT1/8 28217585 113|7/16|92 72| 24 11.0 | 100
ELLC5/32U 5/32 | 87 |UNF10/32 | 298 | 185|36|11.8|5/16 (104 82| 25 80 | 100

,,ﬁ (. | ELLC5/32N0 5/32 87 | NPT1/16 |33.7 /18580 |11.8|5/16 10482 | 25 90 | 100
M{L ELLC5/32N1 5/32 87 | NPT1/8 |337/185|85|118|7/16 10482 | 25 13.0 | 100
ELLC1/4U 1/4 |10.8|UNF10/32 | 34319636 |129|5/16 |124/102| 25 90 | 100

IJ;{} ELLC1/4NO 1/4 1108 NPT1/16 | 383|196 80 129|5/16 124(102| 35 11.0 | 100
N ELLC1/4N1 1/4 1108 NPT1/8 |383]196/85/129|7/16 124/102| 35 140 | 100

El 54 www.kcepr.com



E Lﬁ%% Egg g-? ETC series

ZWE IE|X) I/Y

ETC series

(AHS}H ol A2

SE

2
HER| Y
SIS A
2|2 (R(PT)LIA}) E5j/TEl
SC, SCS
E
.8 |
L | /ﬁ SC-F
al o N E—
=) T >
| i~ ! \—// ASCM
) Bl
- X - KAS2000
/4000
KAS500
/600
R SCPV
I
KHVC
KHVF
el i mm
2y @D oP T L E A B oy X Y | oriFice | WEIGHT| - BOX
KHVU
ETC03M3 3 76 | M3X05 185 | 266 30 | 11 8 9.2 7.2 15 | 20 | 100
ETCO3M5 3 76 | Msx08| 191 | 266 | 36 | 111 8 9.2 7.2 24 | 30 | 100
ETC03M6 3 76 | M6X1.0| 196 | 266 41 | 111 8 9.2 7.2 24 | 40 | 100 KHVM
ETC04M3 4 87 |M3x0o5| 196 | 286 30 | 116 8 104 | 82 15 | 40 | 100
ETC04M5 4 87 | Msx08 202 | 286 36 | 116 8 104 | 82 25 | 40 | 100 CHEVL
ETC04M6 4 87 |Mex1.0| 207 | 286 41 | 116 8 104 | 82 30 | 50 | 100
ETC0401 4 87 |RPD1/8] 207 @ 286 | 80 | 116 10 | 104 | 82 30 | 70 | 100
ETCO6M5 6 108 | M5x0.8 | 223 | 310 | 36 | 128 8 124 | 102 | 25 | 60 | 100 SH
ETCO6M6 6 108 | M6X10 228 | 310 | 41 12.8 8 124 102 30 | 60 | 100
ETCO601 6 108 RPT)1/8] 228 | 310 | 80 | 128 | 10 | 124 | 102 | 30 | 80 | 100

www.kccpr.com El - 55



E tf,g% Egﬂ !‘g ETC series

o
ZWE e I/Y

Q2| (NPTLIAD

E
- B -
- L |
I | I
[A =] 11
S,
= T A B 11 —
. -] ‘( 11T ‘f‘ -
[ |
<1 o =
AL
T
I
£l i mm
@D H WEIGHT BOX
Sl (INCH) oP T L E A B (Hex) X Y ORIFICE © (EA)
ETC1/8U 1/8 7.6 UNF10/32| 19.1 26.6 3.6 1M 5/16 9.2 7.2 2.4 2.0 100
ETC1/8NO 1/8 7.6 NPT1/16 19.6 26.6 8.0 1M1 5/16 9.2 7.2 2.4 3.0 100
ETC1/8N1 1/8 7.6 NPT1/8 19.6 26.6 8.5 1.1 7/16 9.2 7.2 24 5.0 100
ETC5/32U 5/32 8.7 UNF10/32 20.2 28.6 3.6 11.6 5/16 104 8.2 2.5 5.0 100
ETC5/32N0 5/32 8.7 NPT1/16 20.7 28.6 8.0 11.6 5/16 104 8.2 3.0 5.0 100
ETC5/32N1 5/32 8.7 NPT1/8 20.7 28.6 8.5 11.6 7/16 104 8.2 3.0 6.0 100
ETC1/4U 1/4 11.3 |UNF10/32) 22.8 32.3 3.6 135 5/16 12.8 10.8 2.5 10.0 100
ETC1/4NO 1/4 1.3 NPT1/16 23.3 32.3 8.0 135 5/16 12.8 10.8 3.5 12.0 100
ETC1/4N1 1/4 1.3 NPT1/8 233 32.3 8.5 13.5 7/16 12.8 10.8 3.5 16.0 100

El - 56 www.kccpr.com



KCC Co., Ltd.

AOAAES (F)

KECS

EOQOCC series

EOCC series

ZWE IE|X) I/Y

ASBLE 2 2l A oIz}
; A otE ASFZA| LA LAt
& A ECe SYstLt AESA2 25l Hi2tA| 2HdE 0|11
\\t@f SZY ™M= A Btse TE (& A2
SE
Bue
SIEj 2Tl
e FE (g
RIZ|+& (R(PT)LEAL)
v SC, SCS
Anu S SC-F
L/
K- el : mm ASCM
o H WEIGHT | BOX
- (=]
p 2 gD | oP T L | A B ey X | Y ORFICE ™RGN KAS2000
e - EOCCO3M3 | 3 | 7.0 'M3X05 17.1) 40 111 15 92|72 15 | 20 | 100 /4000
[ |
- ! EOCCO3M5 | 3 | 7.0 | M5X0.8 | 17.7 46 11120 92|72 20 | 40 | 100 KASS00
. EOCCO3M6 | 3 80 M6X10 182 51 11120 92 72 20 | 40 | 100 /600
! EOCCO4M3 | 4 | 80 M3X05 177 4.0 116 1.5 104 82 15 | 30 | 100
=
il <I EOCCO4M5 | 4 | 80 M5X0.8 182 4.6 116 2.5 104 82 25 | 40 | 100 SCPV
T/ EOCCO4M6 | 4 | 80 M6X1.0 188 51 116 3.0 104 82 30 | 40 | 100
. EOCC0401 | 4 | 10.0 R(PT)1/8 17.3 80 116 3.0 104 82 30 | 60 | 100 KHVC
EOCCO6MS5 | 6 | 10.0 MS5X0.8 | 194 46 128 25 124102 25 | 40 | 100
I
% EOCCO6M6 | 6 | 10.0 M6X1.0 199 51 128 3.0 124102 30 | 40 | 100 KHVE
. EOCC0601 | 6 | 10.0 R(PT)1/8/19.6 80 12.8| 40 124 102 40 | 50 | 100
KHVU
2 |A
22|42 (NPTLIAL)
KHVM
Y
i
/ \ KHBVU
N |
N
K 1 SH
@op G i mm
o
@D H WEIGHT | BOX
. ' (=] WG| 2P T L | A | B ey X Y oRFcE VST RS
!
o | EOCC1/8U | 1/8 | 7.0 UNF10/32(17.7 46 11.13/32 /92 72 24 | 20 | 100
» EOCC1/8NO | 1/8 | 8.0 | NPT1/16 18.0) 8.0 (11.1/3/32/ 92 72 24 | 50 | 100
i ? EOCC1/8NT | 1/8 |11.0 NPT1/8 |16.3| 85 11.1/3/32 92 72 24 | 60 | 100
o —
i <I EOCC5/32U | 5/32 | 8.0 |UNF10/32 | 18.2| 4.6 |11.6 3/32 104 82 24 | 3.0 | 100
J ' EOCC5/32N0 | 5/32 8.0 | NPT1/16 19.0 80 11.6 3/32 104 82 24 | 40 | 100
] EOCC5/32N1 | 5/32 |11.0] NPT1/8 |16.3| 85 [11.6 3/32 104 82 24 | 90 | 100
t"l EOCC1/4U | 1/4 |10.5/UNF10/32 19.3| 4.6 13.03/32 128 108 24 | 120 | 100
I
*\(/C EOCC1/4NO | 1/4 |10.5/ NPT1/16 |22.0| 8.0 13.0 5/32 | 12.8 108 40 | 16.0 | 100
EOCC1/4NT | 1/4 105/ NPT1/8 |19.5 85 13.0 5/32 12.8 108 40 | 180 | 100

www.kccpr.com




KCC Co., Ltd.

AOAAES (F)

jrn §
o

KECS

ESTC series

ESTC series

ZWE e I/Y

e =— A — —
Aot E LA 2'ek L AFH
QILIAL 20f| 22 dieknt 2|2t uisko| EH HY2H0)| ALE
(™3t
S| A
Az (R(PT)LIAL
£l mm
E - H WEIGHT | BOX
‘ ‘ [=1=] oD | opP T L E| A | B [gag X | Y ORFCE™G™ D)
[ @ ESTCO3M3 | 3 | 7.6 | M3X0.5 |283/133/3.0 11.1] 8 (92|72 15 2.0 | 100
| . ESTCO3M5 | 3 | 7.6  MS5X0.8 28913336 11.1| 8 (92|72 24 | 3.0 | 100
./< N ggi T ESTCO3M6 | 3 | 7.6  M6X1.0 294133/ 4.1 11.1| 8 (92|72 24 | 40 | 100
jHE -
% il = ESTCO4M3 | 4 | 8.7 M3X0.5 298142/ 3.0 116 8 [104/82 15 | 40 | 100
— H ESTCO4M5 | 4 | 8.7 MS5X0.8 304 14236 116/ 8 [104/82 25 | 40 | 100
“j‘*ﬂ“# ESTCO4M6 | 4 | 8.7 | M6X1.0 309/142 4.1 116 8 [104 82| 3.0 50 | 100
J ESTCO401 | 4 | 8.7 |R(PT) 1/8/30.9/142 8.0 /116 10 104 82| 3.0 7.0 | 100
ESTCO6M5 | 6 |10.8| M5X0.8 335165 3.6 128 8 [124/102| 25 6.0 | 100
I‘ { } ESTCO6M6 | 6 |10.8| M6X1.0 340/165 4.1 128 8 [12.4/102| 3.0 6.0 | 100
[ ESTCO601 | 6 |10.8 R(PT) 1/8/34.0 165/ 8.0 128/ 10 124102 3.0 | 80 | 100
oy AL
QAR (NPTLIA)
el mm
E oD H WEIGHT | BOX
‘ 24 NG| @P T L | E| A B el X | Y ORIFICE ™GSR
“ @ ESTC1/8U 1/8 | 7.6 |UNF10/32/289 133|3.6 11.1/5/16 /9.2 /7.2 24 | 2.0 100
1
A T E’gf ESTC1/8NO | 1/8 | 7.6 | NPT1/16 |29.4/133/8.0(11.1|5/16 /92|72 24 | 3.0 |100
'\Oj > %'gL];ﬂL - . ESTC1/8N1 | 1/8 | 7.6 NPT1/8 294]133/85 11.1/7/16 92|72 24 | 50 100
x| ‘ } ESTC5/32U | 5/32 | 8.7 |UNF10/32/30.4(14.2|3.6|11.6/5/16|104| 8.2 | 2.5 5.0 |100
———— ESTC5/32N0 | 5/32 | 8.7 | NPT1/16 |30.9 142/8.0(11.6/5/16/104 82| 3.0 5.0 100
J’U i ESTC5/32N1 | 5/32 | 8.7 | NPT1/8 309 142/85/116|7/16 104/ 82| 30 | 60 100
ESTC1/4U 1/4 11.8|UNF10/32|34717.6/3.6 135/5/16 128 108 25 | 10.0 100
1‘7{} ESTC1/4NO | 1/4 |11.8| NPT1/16 |35.2/17.6/8.013.5/5/16 128/ 108 4.0 | 12.0 |100
[ ESTC1/4N1 | 1/4 [11.8| NPT1/8 |352 17.6/8.5/13.5/7/16/12.8/108 3.5 | 16.0 /100

www.kccpr.com



KECS

KCC Co., Ltd.

A O A ALE S (

=)

EURC series

EURC series

AFLE 12 0 £ U

ZWE IE|X) I/Y

[
o

LHE AFO|27t CHE FE7|2|9] HEES SliA AL

(83t
Y¥x|45L (METRIC)
E
B2 _ B'
] — ] i
I 1] | //” '“\\
AN o e il a0 [
= oo ol o t >
\\\% W Q| & [H] 8y & |/
” ! B /| T \\\au _,///
X2
- X
T2l i mm
== D1 | @D2 | @P1 | @P2 E B1 B2 X1 Y1 X2 Y2 omHCE‘N?sHT %gﬁ
EURC0304 3 85 76 | 238 | 116 | 111 | 104 82 92 72 24 2.0 100
EURC0306 107 | 76 | 242 | 128 | 111 | 124 | 102 | 92 72 25 2.0 100
EURC0406 107 | 85 | 263 | 128 @ 116 | 124 102 | 104 82 3.0 3.0 100
S| A
Qx| (INCH)
E
B2 B1
f/,_ I _m i I i ///’--“x\\
N\ o g sl il f - R
p o = ol o >
N~ SR - 88 1T
. 1 l i
L 1
X2
 — — X
Cel i mm
2 D1 | @D2 | @P1 | oP2 E B1 B2 X1 Y1 X2 Y2 ORWKE‘NESHT ﬁgé
EURC5/321/8 | 5/32 | 1/8 8.7 76 | 238 | 116 | 111 | 104 | 82 92 72 24 20 | 100
EURC1/4 1/8 1/4 18 | 113 | 76 | 242 | 135 | 111 | 128 108 | 92 72 3.0 30 | 100
EURC1/45/32 | 1/4 | 532 | 113 | 87 | 263 135 | 116 | 128 | 108 | 104 | 82 30 30 | 100

www.kccpr.com

AN 2]

HEZ|TE

ZIHE
o1

42|
SE{z|m|g
SC, SCS
SC-F

ASCM

KAS2000
/4000

KAS500
/600

SCPV
KHVC
KHVF
KHVU
KHVM
KHBVU

SH

59



KCC Co., Ltd.

AOAAES (F)

KECS

ERYC series

ERYC series

2mE 9Jefx| 1

= = —
AYSlEI CHE ¢ EEHAZ YAHY
ot ASkoll N EET H&ot 22 |Ekel 37|17t
ZAE VY 285 S5 HiZO|| AR (A3
Ez|4E (METRIC)
L
B1 B2
7 ST .
Sha D
a (] ~ ) = RiSEE Sis >
T a5 Zan w
U Y S§s L
\ . LI | L X2
X1 C
T o mm
=11 oD1 | @D2 | @OP1 QP2 L E C B1 B2 | XI Y1 X2 | Y2 |ORIFICE WE('SHT ?E%
ERYC0304 82 | 76 | 275 152 | 32 | 118 113 104 | 82 | 92 72 | 20 | 40 | 100
ERYC0306 108 | 76 | 287 | 152 | 32 | 129 | 113 | 124 102 92 | 72 24 | 40 100
ERYC0406 108 | 87 292 | 174 | 32 | 129 | 118 | 124 102 104 82 30 | 40 100
QR4 (INCH)
L
B1 B2
L ?/ o o
/ —]Q %#% >
/,"\ - aln T )
o> S8 :
. i X2 |
x1 C =
Chel i mm
oo (lﬁ2;> (,(,?,Eﬁ) oP1 | oP2 | L E C BI | B2 | X1 | Yl | X2 | Y2 |ORFICE WE('QG)HT ‘(3EOA>§
ERYC5/321/8  5/32  1/8 | 87 | 76 | 275 | 152 | 32 | 118 | 113 | 104 82 92 | 72 | 24 | 40 | 100
ERYC1/41/8 | 1/4 | 1/8 | 113 | 76 | 293 | 152 | 32 | 129 | 113 | 128 | 108 | 92 | 72 | 25 | 50 | 100
ERYC1/45/32  1/4 532 | 113 | 87 | 298 | 174 | 32 | 1290 | 118 | 128 108 104 82 | 30 | 50 | 100

60

www.kccpr.com



KECS

AOAAES (F)

KCC Co., Ltd.

ERC series

ERC series

ZWE IE|X) I/Y

=|= = = AN O =
AdetE FE =AHS Ay
ECE JEX| OEo &5t H& EEHE
HE7Hsst LAty Ol (A3} HA M2
UE{|TIE
e
UEIZ/T/E
=] =5 EFx |
x|+ (METRIC) EEz|T/E
SC, SCS
N '
- B _ 0O
(O]
SC-F
i AN ]
b ol [ N >
1 Q Ny J// F ASCM
A KAS2000
~ - /4000
L D, S
— - KAS500
/600
G2l i mm
- WEIGHT BOX SCPV
2y @D1 @D2 @P L A B X Y ORIFICE © €A
ERC0304 4 3 76 30.4 18.0 11.3 9.2 7.2 2.4 1.0 100 CHvC
ERC0306 6 3 76 32.0 216 11.3 9.2 7.2 24 2.0 100
ERC0406 6 4 8.4 33.7 21.8 11.8 10.4 8.2 3.0 2.0 100
KHVF
KHVU
=S| A
Q|8 2|4 (INCH)
KHVM
ol
B ()]
- 8 KHBVU
—F 0 A
5 o () > SH
S S //
L i
| — A —
L X
o2l i mm
@D1 @D2 WEIGHT BOX
FE (INCH) (NCH) P L A B X Y ORIFICE © ER)
ERC5/32 1/8 5/32 1/8 76 304 18.0 11.3 9.2 7.2 24 1.0 100
ERC1/4 1/8 1/4 1/8 76 32.0 216 113 92 72 24 2.0 100
ERC1/4 5/32 1/4 5/32 8.4 33.7 218 11.8 10.4 82 3.0 3.0 100

www.kccpr.com



KCC Co., Ltd.

AOAAES (F)

KECS

EUTC series

2mE 9Jefx| 1

EUTC series

o — Tr— o
St SISOl M S 27t H&5tT 212E gisko| TH
QUErSE 25 HiOf| AL (A3}
Rl z|e~= (METRIC)
E
- B
i [ / |
i ===t e
5[] B
- — I
. |
I C
! .
Ckel i mm
== @D oP L E C B M1 M2 X Y | ORIFICE WE(BHT ‘(3EOA>§
EUTCO3 3 76 17.1 26.6 32 111 54 107 9.2 72 24 2.0 100
EUTCO4 4 85 185 | 286 3.2 116 538 116 | 104 8.2 30 3.0 100
EUTCO6 6 107 | 218 | 333 32 12.8 6.9 138 | 124 | 102 4.0 50 100
Q2|4 (INCH)
E
- B
]
B FE CAY ]
: A N
- 77Ny ANy
\S } X
f | c
L J
1
M2
el :mm
og (II\QI)CDH) op L E C B M1 M2 X Y | ORIFICE WE('QG)HT B
EUTC1/8 18 76 17.1 2656 3.2 1.1 5.4 10.7 9.2 72 2.4 30 100
EUTC5/32 | 5/32 8.5 185 | 286 32 16 58 116 | 104 8.2 3.0 4.0 100
EUTC1/4 1/4 107 | 232 | 353 32 135 7.0 140 | 128 @ 108 50 6.0 100
62 www.kccpr.com



KECS

KCC Co., Ltd.

AOAAES (F)

EUYC series

EUYC series

ZWE IE|X) I/Y

== = =
AQolEl EEAZA YAIY
SHSHO M S EIF 4510 242 2o Y|
2491sF £ 5 B ZH0j| AL (A H S
Y¥x|45L (METRIC)
L
o B —
re —';7 l
| (B -
oo TN | \ ! / !
SIS P s
X
c N2 i
T2l mm
== @D oP L E C B X Y ORIFICE WESHT ﬁgﬁ
EUYCO3 3 76 26.8 15.2 32 111 92 72 24 4.0 100
EUYC04 8.7 28.0 174 32 1138 104 82 3.0 3.0 100
EUYCO06 10.8 30.8 216 32 129 124 10.2 4.0 50 100
Qx| (INCH)
L
-—B
L //ﬂ:' //j;ﬁé:\\ >
__L‘\\j L \ L/ i
o
88 2 v '
= - X |
C L
2l i mm
2y Gﬁ%ﬁ) oP L E C B X Y ORIFICE WESHT %36
EUYC1/8 1/8 76 26.8 15.2 3.2 111 9.2 72 2.4 4.0 100
EUYC5/32 5/32 8.7 28.0 17.4 32 11.8 10.4 8.2 3.0 3.0 100
EUYC1/4 1/4 113 30.8 226 32 135 12.8 10.8 50 50 100

www.kccpr.com

AN 2]

SE

ZIHE
o1

42|
SE{z|m|g
SC, SCS
SC-F

ASCM

KAS2000
/4000

KAS500
/600

SCPV
KHVC
KHVF
KHVU
KHVM
KHBVU

SH

63



KECS

AOAAES (F)

KCC Co., Ltd.

EUCC series

EUCC series

2mE 9Jefx| 1

== = =
AQdotE SEAHE LAY
St WSkl M 27t F4510] 22 Wik
S5 HjEof| ALE (AESH
Q¥ z|4E (METRIC)
E
| [ &2l i mm
@ WEIGHT |BOX
X o gD | @P| E | B | X | v ORFicEWEGHTBOX
EUCCO3 | 3 | 7.6 23211.192 72 24 10 100
EUCCO4 | 4 |85 245116104 82 30 | 20 100
EUCCO6 | 6 |10.7/26.612.8/12.4102 40 | 3.0 100
=S| A
Qx|+ (INCH)
E
e B —
3] i f(\ -
LI | j _,:_ / E2l tmm
x | g |20 op| E | B | x| v |oRFcE|WEGHT BOX
EUCCI/8 | 1/8 7.6(23.2/11.1 92 72| 24 | 1.0 100
EUCC5/32 | 5/32 87245116104/ 82| 3.0 | 2.0 |100
EUCC1/4  1/4 11.3)28.6/13.5/12.810.8 50 | 3.0 100
64 www.kccpr.com



KEC| KSE $o, Hd. EULC series

:
ZWE IE|X) I/Y

EULC series

BHIBIOIA £ 57 45101 212 Wkl
S5 B0 AFZ (23 ArfHe)

SE

zuE
BT
e SEAIE
Q¥x|H+E (METRIC)
SC, SCS
ay
\Kj/ e SC-F
X ASCM
e KAS2000
- - /4000
- B —
; - KAS500
f /600
| o : -
K 88 el i mm
. WEIGHT | BOX SCPV
" i i 2d | ep | gp | L | E | C | B | x | v |orAce | WESHT| BOX
EULCO3 | 3 | 7.6 171 17.1|32 |11.1]92 72 24 10 | 100
I - c EULCO4 = 4 | 85 185 185 32 116 104 82 | 30 20 | 100 KHVC
! ' EULCO6 | 6 | 107 218 21.8| 32 | 128|124 102] 40 40 | 100
KHVF
S 3|A KHVU
QI¥x|4X= (INCH)
/ =~ KHVM
AN
\\\J/ KHBVU
X
SH
E
| B -—
i f i
- 3 é Cke| : mm
L @D WEIGHT | BOX
4 _ iU ey |8yl ee | L | E | c | B | x | Y |orAce | VESHT] O
. EULCI/8 | 1/8 76| 17.1 17.1] 32 111 92 | 72 24 20 | 100
g =——— EULC5/32 | 5/32| 87 | 185 185 3.2 | 116|104 82 | 30 30 | 100
1 L ] ]
EULCI/4 | 1/4 113232 232 3.2 |135 128 108 50 50 | 100

www.kccpr.com El - 65



E tf,g% Egﬂ !‘g EPCC series

o
ZUE YUELR| 7|

EPCC series

Q| z|4HE (METRIC)

/\ gl T Z‘
A R s

T2l mm
il H WEIGHT BOX
24 @D T L E B (Hex) ORIFICE © (EA)
EPCCO3 3 M8X0.75 23.6 2 11.3 10 2.0 8.0 100
EPCC0O4 4 M10X1.0 245 3.5 11.8 12 3.0 10.2 100
EPCCO6 6 M12X1.0 27.3 4 129 14 5.0 14.2 100

- 66 www.kccpr.com



